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Sample Problems for Preliminary Round in Mathematics

Category 2,grades 3 — 4

1.

In the picture on the right you see a map. In the middle a piece is missing. The cat should be

able to reach the milk, and the mouse the cheese, but the cat and the mouse must not meet
each other. What should be the piece in the middle look like?

Ha kapTuHKe cnipaBa Bbl BU/IUTe KapTy. B cepesriHe He xBaTaeT Kycka. Kolika jo/>kHa MMeThb
BO3MOXXHOCTb JIOTSIHYThCS /10 MOJIOKA, @ MBILIb /10 CbIPA, HO KOLIKA ¥ MbILIb HE JJO/HKHBI
BCTpeyaThbcs Apyr ¢ ApyroM. Kakoi o/KHa 6bITh YacTh B cepefiuHe?

A) B) C) D) E)

A 40-minute long lesson began at 11:50 hours. Exactly in the middle of the lesson, a
bird flew onto the classroom. At what time did this happen?

40-MUHYTHBIN ypok Haudasics B 11:50. PoBHO B cepe/jliHe ypoKa B KJ1acC BjeTesa
nTula. B kakoe BpemMs 3TO NpoX3011JI07

A) 11:30 hours B)12:00 hours C)12:10 hours D) 12:20 hours E) 12:30 hours

3. Which square contains 3 quadrilaterals, 3 circles and 4 hearts?

Kako¥ kBazpatT coZiep>kUT 3 4yeTbIpexXyroJbHUKA, 3 Kpyra v 4 cepaua?
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4.

In a café the soup costs €4, the main course €9 and the dessert €5. The three courses

when ordered together cost €15. How many Euro’s cheaper is this, than ordering the
same three courses separately?

B kade cyn ctouT 4 eBpo, 0CHOBHOE 6J1t010 9 eBpo, AecepT 5 eBpo. Tpu 61042 npu

3aKase BMecCTe CTOoAT 15 eBpo. Ha CKOJIbKO eBpoO 3TO ZielieBJie, 4eM 3aKa3bIBaTh TE XKe
TPH 6JI0/1a IO OT/I€JIbHOCTH?

A) €3 B)€4 C)€5 D)€6 E)€7

5. Six coins build a triangle (see picture). What is the smallest number of coins that must
be moved to create the circle?

[llecTb MOHET COCTABJISIIOT TPEYTOJbHUK (CM. pUCYHOK). Kakoe HauMeHbllIee
KOJIMYECTBO MOHET HY>KHO Ilepe/IBUHYTb, YTOObI 06pa30Basics Kpyr?

—

A)1 B)2 €)3 D)4 E)5

6. Four friend each eat some ice-cream. Mike eats more than Franz, Jaroslav eats more that

Viet and Jaroslav eats less than Franz. Put the friends in order according to how much
icecream they have eaten. Begin with the largest amount.

YeTripe gpyra eAdaT no MmopoxxeHoMy. Maiik ect 6oJibiue, yeM PpaHn, Apocias ecT
6osiblie, 4yeM BoeT, a flpociaB ecT MeHble, yeM @PpaHl,. PaccTaBb Apy3ei o NOpsAAKY B

3aBUCUMOCTH OT TOT'0, CKOJIbKO MOPO>XEHOT'0 OHU Chesii. HauHuTE ¢ camMmoii 60J1bIIoN
CyMMBI.

A) Mike, Jaroslav, Viet, Franz B) Viet, Mike, Franz, Jaroslav

C) Mike, Franz, Jaroslav, Viet D) Jaroslav, Viet, Mike, Franz

E) Jaroslav, Mike, Viet, Franz

7. Thave tiles that look like this... Which pattern can I not create with them?

Y MeHs ecTb I[IJINTKH, KOTOPbI€ BbITJIAAAT BOT TaK... Kakou y30p 4 HE MOT'y CO31aThb U3

N /<

Category 2



A) B) C) D) E)

8. Matthias and Klara live in a tower block. Klara lives 12 floors above Matthias. One day

Matthies climbs the staircase to visit Klara. When halfway he is on the 8t floor. On which
floor does Klara live?

MaTuac u Kiapa *kMByT B MHOIOKBapTUPHOM AioMe. Kyiapa »kuBeT Ha 12 sTakel Bbllle
Maruaca. OgHaxkpl MaTHac HOAHUMAETCS 110 JIECTHHIIe, YTOObI HaBecTUTh Kitapy. Ha
MOJINIYTH OH Ha 8-M aTaxke. Ha kakoM ataxke xuBeT Kiapa?

A) 12t B) 14t ()16 D)20t E)24th

9. A large cube is made from 64 small cubes. The 5 visible faces of the large cube are green, the
bottom face is red. How many of the small cubes have 3 green faces?

13 64 ManeHbKUX KyOUKOB CJIOKEH 60JIbIION Ky6. 5 BUAMMBIX IpaHel 60Jb1IOro Kyba
3eJleHble, HIKHAS IpaHb KpacHasi. CKOJIbKO MajleHbKUX KYOUKOB UMeIOT 3 3eJieHble rpaHu?

A)4 B)S8 C)16 D)20 E)24

10. Kangi walks directly from the zoo to school (Schule) and counts the flowers along the way.
Which of the following numbers can he not obtain this way?

Kanru uzet npsiMo 13 3oonapka B mkoJy (Llyse) u no mytu cuutaet 1peTsl. Kakoe U3
CIeAYIOIHUX YKCeJ OH He MOXKET MOJIYIUTh TaKUM 06pa3om?

Loo Schule

A) 9 B)10 C)11 D)12 E)13

11. Aferry boat can transport in one journey, either 10 cars or 6 lorries. Yesterday the

boat crossed the river 5 times. It was always fully loaded and transported a total of
42 vehicles. How many of these were cars?

[lapom MokeT 3a 0JiHy Moe3/Ky nepeBe3Ty 10 aBTOMOGUIEN U 6 TPY30BUKOB.
Buepa jiofika nepenJibLia peky 5 pa3. OH Bcer/ia 6611 IOJTHOCTBIO 3arpy»KeH U
1epeBO3KJI B 0011IeH C10KHOCTU 42 MallMHbl. CKOJIbKO M3 HUX GbIJIO aBTOMOOUJIEN?

A) 10 B)12 ()20 D)22 E)30
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12. Hans began a chain-email. He sent an email to his friend Peter, who sent it on to more

people. Each person that receives the email should send it to 2 more people. After 3 rounds

1+2+4=7 people have received the email. How many people have received the email after 5
rounds?

['aHC HAa4YaJ1 TUCaTh 3JIEKTPOHHOE MHUCHMO M0 Lenoyke. OH OTHpPaBuUJI 3JIEKTPOHHOE MUChbMO
cBoeMy apyry [luTepy, KOTOPBIN pa3ociasi ero Jpyrum JwasaM. Kaxx bl 4esioBek,
MNOJYYMBIINHN 3JIEKTPOHHOE MUCbMO, I0KEH OTIIPABUThH ero ene 2 JoasaM. [loce 3
payH/10B 1+2+4=7 4eyloBEK MOJIYYUJH 3JEeKTPOHHOE MUCbMO. CKOIBKO JI0AeH MOMyYuIn
3JIEKTPOHHOE MUCbMO TocJie 5 payH10B?

A) 15 B)16 C)31 D)33 E)63
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